018HE £ 13 YB3 BYDSH FYSSH - BUDSA FFAYLSTA
SN BYDSH BaSS
HE: yuss
S LUBUDSK 2 CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
BYUDSH PYSSH 9,836,831 9,614,008 222,823
2 67,870 0 67,870
X 2,780,000 2,780,000 0
s 1,000,000 1,000,000 0
= 2,105,000 2,085,000 20,000
Al 3,883,961 3,749,008 134,953
Hysts D 601,663 583,863 17,800
YAYYIS 2 601,663 583,863 17,800
W A BY E4 151,008 150,008 1,000
201 et | 1,000 0 1,000
01 AFR 22l H] 1,000 0 1,000
OCIHE2 JUIAY(EXE 95) 1,000,008 1,000 0 1,000
YYNESY 260,192 243,392 16,800
201 YEr2 | 211,447 194,647 16,800
01 AFR 22| H] 205,440 188,640 16,800
OBMDS ALY 184,800,000%! 184,800 168,000 16,800
yysy D 405,158 292,627 112,531
2 67,870 0 67,870
< 20,000 0 20,000
Al 317,288 292,627 24,661
BUSSHERD Yat 405,158 292,627 112,531
2 67,870 0 67,870
< 20,000 0 20,000
Al 317,288 292,627 24,661
HYSSDDANLRIR 87,000 99,000 A12,000
307 2120l & 87,000 99,000 A12,000
02 SIABMALEE 87,000 99,000 A12,000
oBusE HHSY 0% 0 2,000 A12,000
HOlSH DS XA AY 47,281 0 47,281
2 36,370 0 36,370
Al 10,911 0 10,911
307 212+0I & 47,281 0 47,281
2 36,370 0 36,370
Al 10,911 0 10,911
02 LABMALEE 47,281 0 47,281
ORHRS BES(NANESH)
26,000,008 * 194 A 26,000 0 26,000
2 20,000 0 20,000
Al 6,000 0 6,000
OSHDEREI(TZIARY) 21,281 0 21,281
O&XI0k2tet D 10,881,000% 10,881 0 10,881
2 8,370 0 8,370
Al 2,511 0 2,511




SN BMDSE BMstsD
o Buss T
S BASSUEST 23 (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OB BAZAIA CiAtelot
10,400,0002! 10,400 0 10,400
2 8,000 0 8,000
Al 2,400 0 2,400
EYSCHMDSZ DAL 30,000 0 30,000
= 20,000 0 20,000
Al 10,000 0 10,000
201 Yot FH| 6,780 0 6,780
< 6,780 0 6,780
01 Ak 22l bl 6,580 0 6,580
OMNBIGHYDES 2I8t NAANSBUDSES
o 2B 6,580 0 6,580
OstESotel MDY ALY
30,0008 « 3AI2 * 163] » 44 =2 2 5,760 0 5,760
< 5,760 0 5,760
OstEsotel DY LAY
200,0008 * 33| 600 0 600
= 600 0 600
OB 4o (AH) 30,0008 * 474 120 0 120
= 120 0 120
OB 4+eH(E8) 50,0008 * 24 100 0 100
< 100 0 100
03 & At 2 bl 200 0 200
OMNBIAHHYDES 28 NAANSBUDSES
o 2B 200 0 200
O+24 200,0002 200 0 200
= 200 0 200
206 T & | 8,220 0 8,220
= 3,220 0 3,220
Al 5,000 0 5,000
01 M2 4l 8,220 0 8,220
OMNBINHYDES 2I8 NAANBYDSES
ot 403 8,220 0 8,220
Osta S0t ABDE TR
3,220,000% 3,220 0 3,220
= 3,220 0 3,220
onsgs MeH 5,000, 000% 5,000 0 5,000
307 £12+0| & 5,000 0 5,000
= 10,000 0 10,000
Al 5,000 0 5,000
02 SIHFMAYEE 15,000 0 5,000
OIIZMO) SSEA TRI8 XA (494D
) 15,000,0002! 15,000 0 15,000
= 10,000 0 10,000
Al 5,000 0 5,000
g=ssUE2Y 47,250 0 47,250
2 31,500 0 31,500
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2218 LN BUDSE FMSSH - BADS

MOSE FTAYSA
ZTNB 2Y
YN 29

SN BB ERI(SH) - MEANY - BES 0] &b 2 p/E-F HIDE2
2 HFIANEEMZ 3,547,978 3,403,815 144,163
= 165,740 130,740 35,000
=) 72,570 72,570 0
Al 3,309,668 3,200,505 109, 163
A& 29 2,805,728 2,706,008 99,720
= 165,740 130,740 35,000
< 72,570 72,570 0
Al 2,567,418 2,502,698 64,720
A2 29 2,046,522 1,946,802 99,720
= 81,060 46,050 35,000
< 30,225 30,225 0
Al 1,935,247 1,870,527 64,720
222 400,844 380,644 20,200
201 L Er2 A | 64,754 57,114 7,640
01 At22t2l bl 61,156 53,516 7,640
OCIHEZ2 ZUIAHE(EE E HAIE S 188)
7,640,000& 7,640 0 7,640
401 AIEHI L 20 23,460 12,000 11,460
01 A& HI 23,460 12,000 11,460
OCIHEE HHUIMI(AIEXHE S 98)
11,460,000 11,460 0 11,460
405 Xt&tE SHI 1,100 0 1,100
01 It ESFH SHI 1,100 0 1,100
OFATNE Hugyl 7Y
1,100,000& » 1CH 1,100 0 1,100
Az 2stZ8 29 67,080 66,800 280
405 XtatE SHI 5,280 5,000 280
01 AL ESHSH 5,280 5,000 280
O=3 Z208 29 Z| 280 0 280
oZal 280,000& * 1CH 280 0 280
Hzggs 24 215,305 199,315 15,990
405 TtobH S| 48,640 32,650 15,990
01 et EZFH S 48,640 32,650 15,990
oxXza &I 15,990 0 15,990
o328 Am 490,000& * 64 2,940 0 2,940
odlolg 230,000& * 3H 690 0 690
o108 An 220,000& = 3K 660 0 660
Oe2elg At 390,000& * 307H 11,700 0 11,700
SN2 84 146,981 141,981 5,000
307 glz2+ol & 31,000 26,000 5,000
02 LIt AMAHEE 31,000 26,000 5,000




SN BYDSH HEANYCAD
M ZBEND 29
Solr ANBEAMR 29 EEH-E)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OXNSTAHZ RSE2 18 2SS A
1,000,000 * 574 £ 5,000 0 5,000
-EEEN QT 23 241,050 252,800 A11,750
405 HarE S| 207,650 219,400 A11,750
01 AL S EH S| 207,650 219,400 A11,750
ORFID ZHI DA 112,250 124,000 A11,750
OtEer 216D 0 0 21,000 ~21,000
OMI2E 2I¢ 7| 450,0002 * 5CH 2,250 0 2,250
Osl¥Z 528 Zalg  3,500,0008 * 20 7,000 0 7,000
WMME TGRSR ELXE 70,000 0 70,000
= 35,000 0 35,000
Al 35,000 0 35,000
402 LA X =01 A 70,000 0 70,000
= 35,000 0 35,000
Al 35,000 0 35,000
01 I A=A B = 70,000 0 70,000
ONMMENIANSEND ZLX
70,000,0002 70,000 0 70,000
= 35,000 0 35,000
Al 35,000 0 35,000
PSS (AN IFAYTHZ) 44,443 0 44,443
SIS 44,443 0 44,443
e JlE 44,443 0 44,443
802 BHE 2|t 44,443 0 44,443
FEREETTEE 36,091 0 36,01
OBZETAHE HBAIZ ABAY 29
7,874,300 7,875 0 7,875
OO0l Xt et 2 787,4302! 788 0 788
OFANE HASSHA AY 24,894,009 24,894 0 24,894
OO0l XHEHe 2 2,534,0008! 2,534 0 2,534
02 A - CHEXZUEZ 8,352 0 8,352
OBZTETAHE HBAIZ ABAY 29
3,938,0002 3,938 0 3,938
OXSTAHE THIXA 447,600 448 0 448
OO0l Xt e 2 438,480 439 0 439
OFANE HASSHL TH XA
3,201,000% 3,201 0 3,201
OO0l Xt B 2 326,0002! 326 0 326




018HE £ 13 YB3 BYDSH FYSSH - BUDSA FFAYLSTA
SN BUDSY HFAYLSCH
Hu: ZTCAHB 2Y
Sl NYRSEHEY 29 CERED
SA BB (S) - MRAY - BAS 0] &b 2 p/E-T Hl DS 2
HYDSY FFANYLECND 2,704,375 2,680,012 24,363
2 66,870 66,870 0
< 98,035 98,035 0
Al 2,539,470 2,515,107 24,363
TTZEHB 29 2,378,607 2,358,697 19,910
2 66,870 66,870 0
< 98,035 98,035 0
Al 2,213,702 2,193,792 19,910
NERBZHZ 29 1,755,383 1,744,563 10,820
2 19,320 19,320 0
= 74,260 74,260 0
Al 1,661,803 1,650,983 10,820
NEER-S T 313,403 312,903 500
201 Bt | 28,700 28,200 500
01 AbR 22l 900 400 500
OCIHS82 HUIAY(EXE 55) 500,000 500 0 500
HMUCAB QEat L5 332,337 343,017 £10,680
201 YEr2 | 286, 187 296,867 £10,680
02 B2l 273,612 284,292 £10,680
ORFID IS FHl SR 22l (4H2)
3,800,0002 * 12942 45,600 51,600 6,000
OTHZ UWIEYI /BB R 22l (5H4)
2,810,008 * 12042 33,720 38,400 4,680
HecH g4 161,981 150,981 11,000
307 212+01 & 34,000 23,000 11,000
02 SIABMANARE 34,000 23,000 11,000
ONSTNE 2l X 34,000 23,000 11,000
OXSCHY 24Z20Y N
1,000,008 * 5)H 2 5,000 0 5,000
02 M2TH N (CS2)
3,000,000% * 474 £ 2,000 6,000 6,000
Moz M2 328,750 318,750 10,000
401 N EHIL 2 THYI 0,000 0 10,000
01 Al&l bl 10,000 0 10,000
©IHS TN NEYLTA
10,000,0002 * 14} 10,000 0 10,000
HAC KBS 233, 149 231,529 1,620
2 19,320 19,320 0
< 9,660 9,660 0
Al 204, 169 202,549 1,620
NEERT 22 21,800 20, 180 1,620
201 YBt2 | 9,000 7,380 1,620
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